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1. (a) (5pts) Define the monetary aggregates M1 and M2. 

 

 

 

 

2. Consider a hypothetical economy that produces only four goods: ponchos, skates boards, apples, and rafts. The table below gives the total quantities produced and the prices of these goods in each of the past three years. Suppose that the typical urban family purchased 5 ponchos, 2 skate boards, 1000 apples, and 0 rafts in 1998. 

 

	Item
	Quantity produced in 1998
	Price in 1998
	Quantity produced in 1999
	Price in 1999
	Quantity produced in 2000
	Price in 2000

	Ponchos
	1000
	$5.00
	1010
	$5.50
	1000
	$5.50

	Skate Boards
	200
	100.00
	190
	110.00
	180
	170.00

	Apples
	200,000
	0.25
	250,000
	0.30
	220,000
	0.25

	Rafts
	50
	2000.00
	45
	2200.00
	42
	2220.00


(a) (5pts) Calculate the Consumer Price Index (CPI) for 1999, using 1998 as the base year.

 

(b) (5pts) Calculate the CPI for 2000, using 1998 as the base year.

 

(c) (5pts) Use the CPI to calculate the inflation rate between 1999 and 2000.

 

(d) (10pts) Is the CPI in this economy subject to the substitution bias? Explain, with reference to a definition of the substitution bias. 

 

 

 

 

3. Suppose you lend money for one year at a nominal annual interest rate of 5.8%. You expect the annual inflation rate to be 3.4% over the year of the loan. 

 

(a) (5pts) What real interest rate do you expect to receive?

 

(b) (5pts) Is it possible that you might end up receiving a real interest rate of 6.0%? 

If not, why not? If yes, what exactly would have to happen?

 

(c) (5pts) Is it possible that you might end up receiving a real interest rate of &endash;0.6%? 

If not, why not? If yes, what exactly would have to happen?

 

 

4.(a) (5pts) Draw an upward-sloping yield curve for United States government treasury debt.

 

(b) (10pts) Suppose that the Pure Expectations Theory of the term structure of interest rates holds. Is it possible that your yield curve is consistent with market participants believing that interest rates will fall in the future? Explain.

 

(c) (10pts) Suppose that the Liquidity Premium Theory of the term structure of interest rates holds. Is it possible that your yield curve is consistent with market participants believing that interest rates will fall in the future? Explain.

 

 

 

 

5. Consider an economy in which checking deposits are the only kind of deposit. Assume that the required reserve ratio is 20%, 

 

(a) (5pts) Fill in the following table so that bank A is illiquid and insolvent. 

 

Bank A 

	Assets
	Liabilities

	Required Reserves______________
	Deposits $100,000,000

	Excess Reserves _______________
	

	Five-year loans _______________
	Bank Capital _______________


(b) (5pts) Fill in the following table so that Bank B is illiquid and solvent. 

Bank B

	Assets
	Liabilities

	Required Reserves______________
	Deposits $100,000,000

	Excess Reserves _______________
	

	Five-year loans _______________
	Bank Capital _______________


6. (a) (5pts) Define the Federal Funds Rate (FFR).

 

(b) (10pts) Describe what action the Federal Reserve takes when it wants to lower the FFR. With reference to a supply and demand diagram for the Federal Funds Market, explain why the FFR falls in response to this action.

 

(c) (10pts) What happens to M1 when the Fed takes the action you described in part (b)? 

Be as explicit as you can in your answer.

 

 

 

7. (10pts) Consider the articles "Central Bank Independence and Inflation Targeting," written by the Federal Reserve Bank of Boston's Jeffrey Fuhrer, and "Is There A Cost to Having an Independent Central Bank?" written by Federal Reserve Bank of San Francisco's Carl Walsh. What relationship did the authors find between central bank independence and real economic performance?

8. (10pts) Suppose that the Classical Quantity Theory of Money holds. Explain whether the following statement is true or false: If the Federal Reserve wants to keep inflation in the United States at zero, then the Fed must hold the money supply constant. 

 

 

 

 

9. To answer questions (a)-(d) below, make the following assumptions:

 

Suppose that the United States Federal Reserve estimates that Potential Gross Domestic Product grows at a 3.3% rate. Assume that the Fed is mistaken in its estimate. In fact, Potential GDP actually grows at only a 3.0% rate. 

 

(a) (5pts) How do economists estimate the growth rate of Potential GDP? Is it really possible for a well-intentioned Fed to have an inaccurate estimate of Potential GDP?

 

(b) (20pts) Consider the New Keynesian model with fixed nominal wage contracts. What happens in this model to real GDP and the price level if the Fed persistently uses monetary policy aimed at moving the economy to what the Fed believes is Potential GDP? Explain your answer, with reference to a New Keynesian aggregate supply-aggregate demand diagram.

 

(c) (5pts) In a New Keynesian model, why would the Fed not be content to simply let the economy adjust on its own to Potential GDP?

 

(d) (20pts) Suppose that people expect the Fed to use monetary policy to try make the economy grow at a 3.3% rate. In the New Classical Lucas Island model, what effect would theFed's anticipated actions have on real GDP and the price level? Explain your answer, with reference to a Lucas Island aggregate supply-aggregate demand diagram.

 

 

 

 

10. (a) (5pts) Define the classical dichotomy. 

 

(b) (10pts) Does the classical dichotomy hold in themonetarist worker misperception model? Explain your answer.

 

(c) (10pts) Does the classical dichotomy hold in Real Business Cycle models? Explain your answer.

